& Ticrre

€D Tierre









Sy~ s
—

et e S P S

WA
N
e o\ u A\ |

Q
=
O
D
=
AC)
I~

@ Tierrefittings’
€ F-Line.PRO
€ INOX Fit







PUSH-IN
FITTINGS
M SERIES

PLUS

COMPACT AND EXTREMELY
LIGHTWEIGHT

EXCELLENT RESISTANCE TO VACUUM

CAN BE USED WITH WATER FOR
INDUSTRIAL APPLICATIONS

Available in parallel ESPP THREAD &
metric with sealing O-ring and taper BSPT
THREAD with teflon pre-coated thread

AVAILABLE SMP FITTING SERIES IN
STAINLESS STEEL AISI 303

WIDE RANGE OF DIAMETERS
AVAILABLE with optimization of flow rates

Working pressure up to 20 BAR and
temperature range -20°C = 80°C



PUSH-IN FITTINGS / M SERIES 5

-

p. 8 / MPC-R p. 8 / MPC-G p. 9/ MPL-R p.9 / MPL-G p. 10 / MPT-R p. 10 / MPT-G
p. 11 / MPUC p. 11 / MPG p. 11 / MPUL p. 12 / MPUT p. 12 / MPY p. 12 / SCPW

SMP SERIES / STAINLESS STEEL AISI 303 & PA66

p. 13 / SMPCR

p. 13 / SMPL-R

QUICK EXHAUST VALVES / PA66

&

p. 14/ MEVU

0. 15 / MEVS

BANJO FLOW REGULATORS / NICKEL-PLATED BRASS & PA66

0. 18 / MSCR

p. 18 / MSC-G

FLAT FLOW REGULATORS / NICKEL-PLATED BRASS & PA66




6 PUSH-IN FITTINGS / M SERIES

CONSTRUCTION DETAILS

-20°C + 80°C dry air
1°C + 80°C air, vacuum, and

water for industrial applications

Working pressure:
20 Bar

Negative pressure:
- 0,95 Bar (- 99 kPa)

Pressure peaks do not exceed the
max working pressure

Compressed air, vacuum and
industrial water

- Taper gas BSPT ISO 7

from R1/8" to R1/2" with teflon
- Parallel gas BSPP ISO 228

from G1/8" to G1/2" with OR
- Metric I1ISO 262

M5 and Mé with OR

Polyamide PA, polyurethane
PU, polyethylene PE, FEP, PTFE

®

Body: Nickel-plated brass and PA66

Stainless steel AISI 303 (SMP Series)

O-Ring: NBR

Back ring: PA66

POM (MPC - MPC-G)
POM (SMP Series)

Seal: NBR

Lock claw: Stainless steel AISI 301
Collar: PA66

Collet: PA66

ILICONE J33{3

Products in compliance with

EC Regulation 1907/2006

ccccccccc

Products in compliance with
the directive EU 2015/863

Body

Back ring

Lock claw

Collet

Collar

Body

Lock claw

Back ring

TIGHTENING TORQUE TIGHTENING TORQUE

TAPER GAS BSPT ISO 7 PARALLEL GAS BSPP ISO 228 & METRIC ISO 262
THREAD 1/8" /4" 3/8" /2" THREAD M5x0,8 | M6x1,0 | 1/8" | 1/4" | 3/8" | 1/2"
Nm 7 12 22 28 Nm 1,5 2,3 10 15 25 40

9

drawings and technical data are not binding & can be changed without notice



PUSH-IN FITTINGS / M SERIES 7

INSERTION OF THE TUBE INTO THE FITTING

- Make sure the tube is fully inserted into the fitting.

- To insert the tube into the fitting cut the tube off square (90°), insert tube up to the fitting end stop, and pull back gently to make sure it is correctly
connected.

- If there is any damage or scrafches on the tube surface the tube is an oval shape, air leakage and tube release may occur. Check the tube condition
carefully.

- The OD of polyurethane tube expands when pressure is applied. Reinsertion into the fitting may not always be possible. Check the OD of the tube
and renew it the expansion is out of tolerance.

DISCONNECTION OF THE TUBE FROM THE FITTING

- Make sure the pressure in the system is zero before releasing the tube from the fitting.
- To release the tube, press the release sleeve towards the fitting with one hand (1) and pull the tube away from the fitting with the other hand (2).

- Always remove the section of tube previously inserted info the fitting before reinserting the tube by cutting back the tube. Always use the correct tube
cutter in order to cut the tube square and free of damage.

TOLERANCES - METRIC TUBE INSERTION DEPTH - METRIC TUBE
© TUBE 4 ) 8 10 12 @ TUBE 4 6 8 10 12
(mm) (mm)
TOLERANCE TUBE INSERTION
(mm) +0,1 +0,1 +0,1 +0,1 +0,15 LENGHT {mm) 12 14,5 16,5 19 21

drawings and technical data are not binding & can be changed without notice 0



8 PUSH-IN FITTINGS / M SERIES

Male connector BSPT thread

o CODE @0 T @ A B | L CH H DN| g
MPCO4ROTW R1/8" | 10 | 8 | 148 220 | 10 | 3 3 | 90
o MPCO4RO2W | 4 | R1/4" | 10 | 10 | 148 | 210 | 14 | 3 3160
- i MPCO4RO3W R3/8" | 10 | n |48 | 220 17 | 3 3 | 280
/i‘ < MPCO6ROTW R1/8 | 12 8 | 164 | 234 | 12 | 4 4 100
7 - MPCO6RO2W R1/47 | 12 | 10 | 164 | 219 | 14 5 5 ] 140
MPCO4RO3W ° Ik 3/8 | 12 | 11 |64 | 220 177 | 5 5 | 250
3 {} DT MPCO4RO4AW R1/2° | 12 | 14 | 164 | 202 | 19 | 5 5 | 530
MPCO8ROTW R1/8 | 14 | 8 | 184 | 284 | 14 | 5 5 150
MPCO8RO2W R1/4* | 14 | 10 | 184 | 264 | 14 | 6 6 1160
MPCO8RO3W ° 1% 3/8" | 14 | 11 | 184 | 239 | 17 | 6 6 | 240
MPCO8RO4W R1/2° | 14 | 14 | 184|204 | 19 | 6 6 | 490
MPCTOROTW RI/8 | 161 | 8 | 197|209 | 17 | 5 5 | 210
MPC10R02W R1/4° | 160 | 10 | 197 | 314 | 17 | 6 6 | 240
MPC10RO3W 0% 3/8 | 161 | 11 | 197 | 275 | 17 | 8 8 | 240
MPC10RO4AW R1/2° | 161 | 14 | 197 | 2900 | 19 | 8 8 | 450
MPC12ROTW R1/8 | 19 | 8 | 219 332 ] 19 | 5 5 | 300
MPC12R02W R1/4° | 19 | 10 | 219 | 337 | 19 | 6 6 | 300
MPC12RO3W 2 3/8° | 19 | 1 |29 | 307 19| s 8 | 200
MPC12R04W R1/2 1 19 | 14 | 219 | 302 | 19 | 8 8 | 380

Male connector BSPP & metric thread

g; CODE @D T oP | A B L CH|  H DN | ¢
MPCO4M5W M5x0,8p | 100 | 40 148 | 20,9 10 - 2,5 70

o MPCO4MEW Méx1,0p | 100 | 4,1 14,8 | 20,9 10 3 8,0
- MPCO4GOTW 4 G1/8" | 103 | 50 14,8 | 200 13 3 3 11,0
MPC04G02W G1/4" 1103 | 65 14,8 | 21,5 15 3 3 19,0

T MPCO04GO3W G3/8" | 103 | 65 148 | 215 7 3 3 28,0
MPCO6M5W M5x0,8p | 120 | 40 164 | 231 12 - 2,5 10,0

I MPCO6MOEW Méx1,0p | 120 | 41 164 | 230 12 3 10,0
MPCO6GOTW 6 G1/8" | 123 50 164 | 21,2 13 4 4 10,0

MPC06G02W G1/4" | 123 | 65 164 | 232 15 5 5 17,0

MPCO6GO3W G3/8" | 123 | 65 164 | 22,2 7 5 5 23,0

MPCO8GOTW G1/8" | 143 | 50 184 | 269 15 5 5 170

MPC08G02W G1/4" | 143 | 65 184 | 244 15 6 6 16,0

MPC08GO3W ’ G3/8" | 143 | 65 184 | 234 7 6 6 24,0

MPCO08G04W G1/2" | 143 8,0 184 | 239 21 6 6 38,0

MPCT10GOTW G1/8" | 165 | 50 197 | 289 7 5 5 22,0

MPC10G02W G1/4" | 165 | 65 197 | 289 7 6 6 23,0

MPCT10GO3W " G3/8" | 165 | 65 197 | 254 7 8 8 20,0

MPC10G04W G1/2" | 165 8,0 197 | 259 21 8 8 39,0

MPC12G02W G1/4" | 190 | 65 219 | 31,7 19 6 6 29,0

MPC12G0O3W 12 G3/8" | 190 | 65 219 | 272 19 8 8 23,0

MPC12G04W G1/2" | 190 | 80 219 | 282 21 8 8 36,0

a drawings and technical data are not binding & can be changed without notice



PUSH-IN FITTINGS / M SERIES

MPL-R Swivel male elbow BSPT thread
L2

B CODE @D T P A B L1 L2 | CH | DN g

/*’ M ala MPLO4ROTW R1/8" | 93 7 130 | 187 | 156 | 10 35 | 67

‘ J ]SS MPLOARO2W | 4 | R1/4" | 93 | 10 | 130 | 217 | 156 | 14 | 35 | 126

- MPLO4RO3W R3/8" | 93 | 10 | 130 | 217 | 156 | 17 | 35 | 19,
B ”\:H MPLOGROTW R1/8° | 115 | 7 | 150|200 | 173 | 10 | 35 | 72

MPLOGRO2W | 6 | R1/4" | M5 | 10 | 150 | 230 | 173 | 14 | 35 | 132

MPLOGRO3W R3/8" | 1,5 | 10 | 150 | 230 | 173 | 17 | 35 | 196

MPLOSROTW R1/8" | 136 | 7 | 169 | 218 | 212 | 10 | 4 | 63

MPLOBRO2W R1/4° | 136 | 10 | 169 | 248 | 212 | 14 | 4 | 131

MPLOBROSW | | Ra/s | 136 | 10| 169 | 248 | 212 | 7| 4 196

MPLOSROAW R1/2 | 136 | 13 | 169 | 273 | 212 | 21 | 4 | 346

MPLTORO2W R1/4" | 164 | 10 | 189 | 268 | 246 | 15 | 9 | 140

MPLIORO3W | 10 | R3/8" | 164 | 10 | 189 | 268 | 246 17 | 9 | 195

MPL1OROAW R1/2° | 164 | 13 | 189 | 208 | 246 | 21 | o | 334

MPL12R02W R1/4° | 195 | 10 | 214 | 285 | 287 | 15 | 98 | 161

MPLI2RO3W | 12 | R3/8" | 195 | 10 | 214 | 285 | 287 | 17 | 98 | 216

MPL12RO4W R1/2° 1195 | 13 | 214 | 315 | 287 | 21 | 98 | 355

MPL-G Swivel male elbow BSPP & metric thread
L2

B CODE @D T P A B L1 L2 | CH | DN g

/fi fi Jda MPLOAM5W M5x0,8p | 9,3 4 130 | 162 | 156 9 2,2 3,5

‘ | S MPLOAMEW Méx1,0p | 9,3 4 | 130162156 | 9 3 37

- [_%%\ MPo4GOIW | [ e/s | 93 | s 150 | 167 | 1se | 1e | a5 | 82

cH MPLO4GO2W G1/4 | 93 | 65 | 130 | 187 | 156 | 17 | 35 | 134

uiguh MPLO4GO3W G3/8" | 93 | 65 | 130 | 182 | 156 | 20 | 35 | 19,

MPLOAGOAW G1/2 | 93 | 8 | 130|197 | 156 | 24 | 35 | 317

MPLO6M5W M508p| 11,5 | 4 | 150 | 175 | 73 | o | 22 | 40

MPLO6MOW Méx10p | 115 | 4 | 150 | 175|173 | 9 | 3 | 42

MPLO6GOTW Gl | s | 5 | 150|180 173 | 14 | 4 | 87

MPLO6GOZW | | Gise | ms | 65 | 150 | 200 | 73 | 17 | 4 | 140

MPLO6GO3W G3/8" | N5 | 65 | 150|195 | 173 | 20 | 4 | 197

MPLO6GOAW G1/2 | ns | 8 | 150 | 210 | 173 | 24 | 4 | 323

MPLOSGOTW Gl/8" | 136 | 5 | 169 | 218 | 22| 14 | 6 | 103

MPLOSGO2W Gl/a | 136 | 65 | 169 | 218 | 22| 17 | 6 | 144

MPLOBGOIW | | Gase | 136 | 65 | 169 | 215 | 212 | 20 | 6 | 194

MPLOSGOAW G1/2 | 136 | 8 | 169|228 | 22| 24 | 6 | 316

MPL10GOTW G1/8" | 164 | 5 | 189 | 233 | 246 | 17 | 9 | 139

MPL10GO2W G1/4 | 164 | 65 | 189 | 247 | 246 | 17 | 9 | 165

MPLIOGOIW | | Gase | 164 | 65 | 180 | 228 | 246 | 20 | 9 | 200

MPLT10GO4W G1/2 | 164 | 8 | 189 | 243 | 246 | 24 | 9 | 305

MPLI2GOTW G1/8" | 195 | 5 | 214 | 250 | 287 | 17 | 96 | 155

MPLI2G02W G1/4 | 195 | 65 | 214 | 264 | 287 | 17 | 96 | 18]

MPLIZGO3W | - | Ga/e | 195 | 65 | 214 | 245 | 287 | 20 | 96 | 216

MPL12G04W G1/2° | 195 | 8 | 214 | 260 | 287 | 24 | 96 | 320

drawings and technical data are not binding & can be changed without notice

9



10 PUSH-IN FITTINGS / M SERIES

MPT-R Swivel male central Tee BSPT thread

BLZ CODE @b| T | @| A | B LI 12 CH|DN| g

Tl N MPTO4ROTW R1/8" 9.3 7 13,0 18,7 15,6 10 3,5 74
% 8 3 MPTO4R02W 4 R1/4" 9.3 10 13,0 217 15,6 14 3,5 13,3
I L T I MPTO4RO3W R3/8" | 93 10 | 1830 | 21,7 | 156 | 17 | 35 | 198
ﬁ - MPTO6ROTW R1/8" 1,5 7 150 | 20,0 17,3 10 35 8,4

M, < MPTO6RO2W 6 R1/4" 1,5 10 150 23,0 17,3 14 3,5 14,4

MPTO6RO3W R3/8" 1,5 10 150 | 230 173 17 3,5 20,8

MPTO8ROTW R1/8" 13,6 7 16,9 21,8 21,2 10 4 79

MPTO8RO2W R1/4" 13,6 10 169 | 24,8 21,2 14 4 14,7

MPTO8RO3W ’ R3/8" 13,6 10 169 | 24,8 21,2 17 4 21,2

MPTO8RO4W R1/2" 13,6 13 16,9 273 21,2 21 4 36,1

MPT10RO2W R1/4" 16,4 10 18,9 26,8 24.6 15 Q 16,4

MPTT10RO3W 10 R 3/8" 16,4 10 18,9 26,8 24,6 17 Q 22,0

MPT10R04W R1/2" 16,4 13 18,9 298 24,6 21 Q 35,9

MPT12R02W R1/4" 19,5 10 21,4 28,5 | 28,7 15 9.8 20,2

MPT12RO3W 12 R3/8" 19,5 10 21,4 | 285 | 287 17 9.8 25,8

MPT12R04W R1/2" 19,5 13 21,4 31,5 28,7 21 9.8 39,7

MPT-G Swivel male central Tee BSPP & metric thread

BL2 CODE @b | T |@P| A | B LI L2 |CH DN g

T 1 MPTO4M5W M5x0,8p | 9,3 4 13,0 16,2 15,5 Q 2,2 4,2
% 8 MPTO4GO1W G1/8" 9.3 5 13,0 16,7 15,6 14 3,5 8,9
i — i MPTO4GO2W | 4 | G1/4" | 93 | 65 | 130 | 187 | 156 | 17 | 35 | 14]
ﬁﬁ‘j - MPT04GO3W G 3/8" 9,3 6,5 13,0 18,2 15,6 20 3,5 19,8

M‘ 4U = MPT04G04W G1/2" 9,3 8 13,0 19,7 15,6 24 3,5 324
MPTO6M5W M5x0,8p | 11,5 4 15,0 175 173 Q 2,2 51

MPTO6GOTW G1/8" 1,5 5 15,0 18,0 17.3 14 4,0 99

MPTO06GO2W 6 Gl1/4" 1,5 6,5 150 | 20,0 17.3 17 4,0 15,2

MPTO6GO3W G 3/8" 11,5 6,5 15,0 19,5 173 20 4,0 20,9

MPT06G04W G1/2" 11,5 8 15,0 21,0 173 24 4,0 33,5

MPTO8GOTW G1/8" 13,6 5 169 | 21,8 21,2 14 6,0 1,9

MPT08G02W Gl1/4" 13,6 6,5 16,9 21,8 21,2 17 6,0 16,0

MPTO8GO3W ’ G3/8" 13,6 6,5 169 | 21,3 21,2 20 6,0 21,0

MPT08G04W G1/2" 13,6 8 169 | 228 | 21,2 24 6,0 33,2

MPTT10GOTW G1/8" 16,4 5 189 | 23,3 | 2406 17 9.0 16,4

MPT10G0O2W Gl1/4" 16,4 6,5 189 | 24,7 | 246 17 9.0 19,0

MPT10GO3W N G3/8" 16,4 6,5 189 | 22,8 | 246 20 90 22,5

MPT10G04W G1/2 | 164 | 8 | 189 | 243 | 246 | 24 | 90 | 330

MPT12GOTW G1/8" 19,5 5 21,4 250 | 28,7 17 Q.6 195

MPT12G02W Gl1/4" 19,5 6,5 214 | 264 | 287 17 9.6 22,1

MPT12G0O3W ” G3/8" 19,5 6,5 214 | 245 | 287 20 9.6 25,6

MPT12G04W G1/2" 19,5 8 214 | 260 | 287 24 9.6 36,1

a drawings and technical data are not binding & can be changed without notice



PUSH-IN FITTINGS / M SERIES 11

Union connector

op
2D CODE D (%] B L DN g
- MPUCO4W 4 93 13,0 270 35 1,5
_ @ MPUCO6W 6 15 150 312 5 24
| g | == MPUCO8W 8 136 169 353 7 34
MPUC10W 10 16,4 189 39,6 9 54
MPUC12W 12 19,5 214 446 1 86
— = =
Reduced union connector
P2
D2 CODE @D1 | @D2 | OP1 | @P2 B1 B2 L DN g
e MPGO604W 6 4 s | 93 | 150 | 130 | 290 | 35 | 18
5 N
. B @ MPGO804W 8 4 136 | 93 | 169 | 130 | 324 | 35 | 23
™ 1 . MPGO806W 8 6 136 | 15 | 169 | 150 | 320 | s 27
" _ MPG1006W 10 6 164 | N5 | 198 | 150 | 350 | 5 37
o
) MPG1008W 10 8 164 | 136 | 198 | 169 | 369 | 7 4
D1 MPG1208W 12 8 195 | 136 | 214 | 169 | 40, 7 57
oP1 MPG1210W 12 10 | 195 | 164 | 214 | 198 | 404 | © 65
Union elbow
L CODE | @D | @ @©C B M LI 12 DN g
P
T Iy MPULOAW 4 03 | 32 | 130 | 63 | 155 | 155 | 35 17
| MPULOGW 6 s | 32 | 150 | 74 | 189 | 189 | 5 28
‘ %@—1 MPULOSW 8 13,6 3,2 16,9 8,4 219 | 219 7 472
o MPULTOW 10 | 164 | 42 | 198 | 103 | 251 | 251 9 65
‘ ‘ MPULT2W 12 | 195 | 42 | 214 | no | 288 | 288 | 1 104
oD
oP

drawings and technical data are not binding & can be changed without notice 0



12 PUSH-IN FITTINGS / M SERIES

Union Tee
. CODE oD oP | ©C B M1 M2 L DN g
B - MPUTO4W 4 93 32 | 130 | 63 | 126 | 155 | 35 26
' . i %g[ I I MPUTO6W 6 N5 | 32 | 150 | 74 | 148 | 189 5 42
# %., f MPUTOSW 8 136 | 32 | 169 | 84 | 168 | 219 7 58
- - MPUT1O0W 10 | 164 | 42 | 189 | 103 | 206 | 251 9 95
,.___g MPUT12W 12 195 | 42 | 214 | N9 | 238 | 288 n 14,9
Union Y
- CODE oD | &P ©C | B E | M1 | M2 ) L IDN| g
—— e — = = = MPYO4W 4 193 |32 [ 130|161 196 | 117 | 93 | 310 | 35 | 26
- MPYO6W 6 | M5 32 | 150|189 | 228 | 136 | 115362 | 5 | 43
= i il i S MPYOBW 8 | 136 32 | 169 | 213 | 263 | 157 | 136 | 410 | 7 | 62
7 r E Kj}/ MPY1OW 10 | 164 | 42 | 189 | 239 | 31 | 201 | 164 | 466 | 9 | 103
o v MPY12W 12 1195 | 42 | 214 | 255 | 36 | 224 | 195|550 | 11 | 158
2D
PR
M2

e
K
S

aC
Anti-spark cover
opP2 D1
ore CODE 201 | gp2 | @P | oP2 L g
SCPWO08 10 134 12,6 16 29,0 2,2
SCPW10 12 16,2 14,6 18,8 31,5 30

a drawings and technical data are not binding & can be changed without notice



PUSH-IN FITTINGS / M SERIES 13

Male connector BSPT & metric thread, stainless steel AISI 303

ot CODE @0 T @ | A B | L CH H DN| g
SMPCO4M5W M5x0,8p 10 4 14,8 | 20,9 10 2,5 5,3

o SMPCO4ROTW ‘ R1/8" 10 8 14,8 | 22,0 10 3 3 70
L ] SMPCOSMSW M508p| 12 | 4 | 164 | 231 | 12 25 | 72
AI ‘ < SMPCO6ROTW R1/8" 12 8 16,4 23,4 12 4 4 78
T 8 SMPCO6R0O2W ° R1/4" 12 10 16,4 219 14 5 5 11,6
SMPCO6RO3W R3/8" 12 11 164 | 229 17 5 5 26,6
5 I {} - T SMPCO8ROTW R1/8" 14 8 18,4 | 284 14 5 5 11,7
SMPCO8RO2W R 1/4" 14 10 18,4 | 264 14 6 6 12,0
SMPCO8RO3W ’ R 3/8" 14 11 18,4 | 239 17 6 6 19,9
SMPCO8RO4W R1/2" 14 14 184 | 294 19 6 6 49,3
SMPC10RO2W R1/4" 16,1 10 197 31,4 17 6 o) 19,3

SMPC10RO3W 10 R 3/8" 16,1 11 19,7 275 17 8 8 20,1
SMPC10R04W R1/2" 16,1 14 19,7 2909 19 8 8 390
SMPC12R02W R1/4" 19 10 219 | 337 19 6 6 24,6
SMPC12RO3W 12 R3/8" 19 11 219 | 30,7 19 8 8 219
SMPC12R04W R1/2" 19 14 21,9 | 30,2 19 8 8 30,2

Swivel male elbow BSPT & metric thread, PA66 and stainless steel AISI 303 thread

LZB CODE @b | T |@P| A | B Ll |12 |CH DN g
L] T SMPLOAM5W M5x0,8p | 9.3 4 13 16,2 15,5 9 2,2 33
i / 8 % SMPLO4ROTW ‘ R1/8" 9.3 7 13 18,7 | 155 10 35 6,3
w ‘ - Il SMPLO6M5W M5x0,8p | 11,5 4 15 175 | 173 9 2,2 38
pa m SMPLO6ROTW . R1/8" 1,5 7 15 20,0 173 10 35 6,8
< (M SMPLO6RO2W R1/4" 1,5 10 15 23,0 173 14 3,5 12,2
SMPLO6RO3W R3/8" 1,5 10 15 23,0 173 17 3,5 18,5
SMPLOBROTW R1/8" 13,6 7 169 | 21,8 21,2 10 4 6,1
SMPLO8BRO2W R1/4" 13,6 10 169 | 248 | 21,2 14 4 12,2
SMPLO8BRO3W ’ R3/8" 13,6 10 169 | 248 | 21,2 17 4 18,7
SMPLO8BRO4AW R1/2" 13,6 13 16,9 27,8 21,2 21 4 32,7
SMPL1ORO2W R1/4" 16,4 10 189 | 268 | 24,7 15 Q 13,4
SMPL1ORO3W 10 R3/8" 16,4 10 189 | 26,8 | 24,7 17 Q 18,7
SMPL10ORO4W R1/2" 16,4 13 189 | 298 | 247 21 Q 31,4
SMPL12RO2W R1/4" 19,5 10 214 | 285 | 283 15 9.8 15,5
SMPL12RO3W 12 R3/8" 19,5 10 214 | 285 | 283 17 9.8 20,8
SMPL12R04W R1/2" 19,5 13 21,4 | 31,5 | 283 21 9.8 33,5

drawings and technical data are not binding & can be changed without notice 0



14 PUSH-IN FITTINGS / M SERIES

-5°C + 60°C

Working pressure:
10 Bar

\ Min. working pressure:
1 Bar

Pressure peaks do not exceed the
max working pressure

@ Compressed air
Polyamide PA, polyurethane PU,
polyethylene PE

Body: PA4S

Mesh: Stainless steel AISI 301
Back ring: PA66

Seal: NBR

Lock claw: Stainless steel AISI 301
Collar: PA66

Seat ring: Brass

Holder: POM

Collet: PAGS

Filter: PE

Housing: Otfone
Valve: NBR

SILICONE Q334

Products in compliance with

EC Regulation 1907/2006

Products in compliance with
ROHS3 ) ¢ directive EU 2015/863

CONSTRUCTION DETAILS

Housing

Mesh

Collet

Collar Lock claw

Silenced exhaust to the atmosphere
through the incorporated silencer.

Easy assembly thanks to push-in fittings
incorporated.

Suitable for multiple applications thanks
to light weight and compact size.

Quick exhaust valve with silencer

L2

@C B

CODE D %] 4 aC B L1 L2 g
93 10 13,0 14,4 39,0 4,5
1,5 10 14,5 159 417 5,5

: MEVUOAW | 4
‘ ) MEVUOSW | 6

Section in mm?2

Exhaust CODE Q’(;g‘?E IN - OUT OUT - EXHAUST
MEVUO4W 1.7 2,5
Silencer MEVUO6W 2,4 2,7

a drawings and technical data are not binding & can be changed without notice



PUSH-IN FITTINGS / M SERIES 15

Body: PA66
_50C - 6OOC BUCk ring: PA66
Seal: NBR
Lock claw: Stainless steel AISI 301
Collar: PA66
Working pressure: Seat ring: Brass
10 Bar Holder: POM
Min. working pressure: Collet: PAGS
1 Bar Housi
ousing: Brass

Pressure peaks do not exceed the Valve: NBR

max working pressure

SILICONE g3ii34

Compressed air

Products in compliance with

EC Regulation 1907/2006

Products in compliance with

Polyamide PA, polyurethane PU,
the directive EU 2015/863

RoHS3
polyethylene PE

CONSTRUCTION DETAILS

Back ring

Housing

Collet

Connection exhaust to be conveyed.

Seal Easy assembly thanks to push-in fittings

incorporated.
Collar

Suitable for multiple applications thanks
to the light weight and compact size.

Holder

Quick exhaust valve with push-in fittings

L2

B2 CODE |9D1/@D2| Bl B2 |@P1 @P2| LI L2 J g
B MEVSO4W | 4 4 1130|130 93 | 93 | 390|154 | 142 | 59
i\ 81 MEVSO6W | 6 6 145145 N5 | N5 | 47| 173 | 156 | 75
@ilvﬁ\ 818 Section in mm?
@ TUBE
L1 B .
N —@_ ot CODE (mm) IN - OUT OUT - EXHAUST
MEVS04W 4 17 25
ouT MEVSO6W 6 2,4 27

drawings and technical data are not binding & can be changed without notice

9



16 PUSH-IN FITTINGS / M SERIES

0°C = 60°C

Working pressure:
10 Bar

Negative pressure:
-0,95 Bar (- 95 kPa)

Pressure peaks do not exceed the
max working pressure

©

Comepressed air & vacuum
(do not use with water)

- Taper gas BSPT ISO 7
from R1/8" to R1/2" with teflon
@ - Parallel gas BSPP ISO 228
with OR from G1/8" to G1/2"

- Metric ISO 262
M5

Polyamide PA,
@ Polyurethane PU,
Polyethylene PE

CONSTRUCTION DETAILS

Manual flow adjustment and
screwdriver

Body: Nickel-plated brass and PA66
Collet: PAG6

Collar: PA66

Lock claw: Stainless steel AISI 301
Back ring: POM

Seal: NBR

O-ring: NBR

Handle: Nickel-plated brass

Lock nut: Nickel-plated brass

SILICONE Q{34

“ Products in compliance with
REACH EC Regulction ]907/2006

Products in compliance with
the directive EU 2015/863

Handle

Lock nut

......

Collet

EXHAUST

(FOR CYLINDERS)

REGULATED FLOW

FREE FLOW

TIGHTENING TORQUE TIGHTENING TORQUE

TAPER GAS BSPT ISO 7 PARALLEL GAS BSPP ISO 228 & METRIC ISO 262
THREAD 1/8" /4" 3/8" /2" THREAD M5x0,8 1/8" /4" 3/8" /2"
Nm 7 12 22 28 Nm 1,5 10 15 25 40

0 drawings and technical data are not binding & can be changed without notice



PUSH-IN FITTINGS / M SERIES

Flow Control Free Flow
160
140 8
= 120 7 g = 150
MSC04M5 E o s o E ——
MSCO6M5 z o 2 2 3 all
L 40 < L s0 ]
2 _—— 1 a
[ —
0 3 4 5 6 7 0 3 4 5 6
Turns Pressure (Bar)
Flow Control Free Flow
500
450 8
400 7
MSC0401 o 350 F 0
MSC0601 £ s S E o
= 250 S =
MSC0801 g 200 ;2 z %00 —
MSC1001 L 150 4 i 200 _—
100 — 1 o 1 —"T04-01
5 1T — 100
0 4 5 6 7 8 9 10 0 3 4 5 6
Turns Pressure (Bar)
Flow Control Free Flow
800 1000
8
MSC0402 700 =
—~ 600 & — 800
MSC0602 E o .8 E
MSC0802 S w0 y g < e
g 300 3 @ g a0
MSC1002 L 200 ] o T " 04-02, 06-02
MSC1202 100 ——— — Te 20
0 4 5 6 7 8 9 10 1 12 0 3 4 5
Turns Pressure (Bar)
Flow Control Free Flow
1400 — 8 . 1400
MSC0603 — 1200 s — 1200
c m C
MSC0803 E 1000 / — 55 E 1000
= 800 = = 800
MSC1003 2 600 3 § 2 600
T )/ o = 40
MSC1203 400 e — & w0
200 ——— =
0 5 6 7 8 9 10 11 12 13 14 15 0 3 4 5
Turns Pressure (Bar)
Flow Control Free Flow
2000
8
/
MSC0604 = 1500 = § g 20
MSC0804 § 1000 % E § 1500 -
2 ] 3 @ 2
MsC1004 5 0§ B —
MSC1204 . & 500
5 6 7 8 9 10 1 12 13 3 4 5

drawings and technical data are not binding & can be changed without notice

Pressure (Bar)

17



18 PUSH-IN FITTINGS / M SERIES

Banjo male elbow flow regulator unidirectional, for cylinders, adjustable BSPT thread with handle regulation

; CoDE @b T @p U 221 B A B H
B MSCO04R01 R1/8" 9,3 150 | 355 | 40.7 | 200 70 8.2 13,0 1
MSCO04R02 ‘ R1/4" 93 18,5 | 40,3 | 46.6 | 220 | 9.0 11.0 | 13,0 15

MSCO6RO1 R1/8" 11,5 151 | 355 | 40,7 | 22,1 70 8,2 150 1

MSCO6R02 R1/4" 11,5 1183 | 40,3 | 46,5 | 240 | 90 11,0 | 150 15

] o MSCO6R03 © R3/8" N5 1 21,7 | 469 | 550 | 26,1 110 1 122 | 150 19
g b MSCO06R04 R1/2" 11,5264 | 540 | 60,1 | 288 | 138 | 165 | 150 24
MSCO8RO1 R1/8" 13,6 | 16,2 | 355 | 40,7 | 24,2 71 8,2 171 1

MSCO8R02 R1/4" 13,6 | 19,2 | 40,3 | 46,6 | 26,1 Q.0 11,0 171 15

MSCO8R0O3 ’ R 3/8" 13,6 | 21,7 | 469 | 549 | 28,2 11 12,2 171 19

MSCO8R04 R1/2" 136 | 264 | 540 | 60,1 | 30,9 | 13,8 | 16,5 171 24

MSCI10RO1 R1/8" 164 | 176 | 355 | 40,7 | 26,8 71 8,2 18,4 11

MSC10R02 R1/4" 16,4 | 20,6 | 40,3 | 46,6 | 28,6 | 90 110 | 184 15

MSC10R03 0 R 3/8" 164 | 230 | 469 | 549 | 295 | 11,1 122 | 184 19

MSC10R04 R1/2" 164 | 264 | 540 | 60,1 | 322 | 13,8 | 16,5 | 184 24

MSC12R02 R1/4" 195 | 22,1 | 40,3 | 46,6 | 30,9 9.0 11,0 | 204 15

MSC12R03 12 R3/8" 195 | 23,8 | 469 | 549 | 32,7 1,1 12,2 | 204 19

MSC12R04 R1/2" 195 | 279 | 540 | 60,1 | 352 | 13,8 | 16,5 | 21,4 24

Banjo male swivel elbow flow regulator unidirectional, for cylinders, BSPP & metric thread with handle regulation

0 CobE @b T ep U 2 21 B A B H

v MSCO04M5 M5x0.8P| 93 10,2 | 271 20,1 178 4,9 3,6 12,9 8
MSC04GO01 4 G1/8" 93 152 | 34,6 | 398 | 200 71 6,0 12,9 8
MSC04G02 Gl1/4" 9,3 18,2 | 39,8 | 46,1 219 9,0 8,0 12,9 12
MSCO6M5 M5x0.8P| 11,5 11,3 | 271 201 1 209 | 49 3,6 150 8

B g& MSC06GO1 G1/8" 11,5 1152 | 346 | 398 | 221 71 6,0 150 8

5

il MSC06G02 6 G1/4" 11,5 1183 | 398 | 46,1 | 240 | 90 8,0 150 12
MSC06G03 G 3/8" M5 1212 | 477 | 549 | 26,1 11,1 8,0 150 14
MSC06G04 G1/2" 11,5 1230 | 545 | 61,7 | 288 | 13,8 9,0 15,0 17
MSC08GO1 G1/8" | 136 | 139 | 346 | 39,8 | 24,72 71 6,0 171 8
MSC08G02 G1/4" | 136 | 174 | 39,8 | 46,1 | 26, 90 8,0 171 12
MSC08GO03 ¢ G3/8" | 136 | 212 | 477 | 549 | 282 | 111 8,0 171 14
MSC08G04 G1/2" | 136 | 230|545 | 61,7 | 309 | 13,8 9,0 171 17
MSC10GO1 G1/8" | 164 | 178 | 346 | 398 | 255 71 6,0 18,4 8
MSC10G02 G1/4" | 164 | 198 | 39,8 | 46,1 274 9,0 8,0 18,4 12
MSC10G03 0 G3/8" | 164 | 199 | 477 | 549 | 29,5 11,1 8,0 18,4 14
MSC10G04 G1/2" | 164 | 230 | 545 | 61,7 | 322 | 13,8 9,0 18,4 17
MSC12G02 G1/4" | 295| 21,3 | 346|398 | 294 | 90 80 | 204 12
MSC12G03 12 G3/8" | 295 191 477 | 549 | 32,7 | 111 80 | 204 14
MSC12G04 G1/2"|295| 214 | 545 | 61,7 | 352 | 138 9,0 21,4 17

9 drawings and technical data are not binding & can be changed without notice



PUSH-IN FITTINGS / M SERIES

19

Manual flow adjustment and
0°C + 60°C screwdriver

Body: PA66 & Nickel-plated brass

Working pressure: Collet: PA66
10 Bar Collar: PA66
Negative pressure: Lock claw: Stainless steel AISI 301

-0,95 Bar (- 95 kPq)

Pressure peaks do not exceed the
max working pressure

Back ring: POM

Seal: NBR

O-ring: NBR

Handle: Nickel-plated brass
Lock nut: Nickel-plated brass

®

Compressed air & vacuum

(do not use with water)
SILICONE [[{3133

Polyurethane PU,

« Products in compliance with
EC Regulation 1907/2006
. REACH g
Polyamide PA,
Products in compliance with
P0|yethylene PE the directive EU 2015/863

CONSTRUCTION DETAILS

Handle

Lock nut

Collar

Collet

Back ring
Lock claw

Unidirectional flat flow regulator, in technopolymer, with handle regulation

E cobE @b ep Lo L E N @C B M M2

N By e M2 MSFO4 4 95 | 264 | 289 | 388 | 110 | 32 | 134 | 54 | 154

/ N ’ ' o oc MSF06 6 | M5 | 335|379 | 465 | 150 | 43 | 150 | 78 | 204
. A TR }f - MSFO8 8 | 136 | 355 | 415 | 531 | 180 | 43 | 171 | 85 | 230
N\ H-L/ JHI-=™ MSF10 10 | 164 | 407 | 487 | 604 | 225 | 43 | 189 | 106 | 276

T T MSF12 12 | 195 | 450 | 535 | 708 | 265 | 43 | 214 | 19 | 324

drawings and technical data are not binding & can be changed without notice 0



M Series catalogue - Ed. 2.0 - 09,/22






&) Ticrre

Tierre Group S.p.a.

via dell'Industria, 18 - 20032 Cormano (M)

Tel. +39 02 663088.1 - Fax +39 02 66304172
www.fierregroup.com - info@tierregroup.com

CF. ePIVA 12437570158

Cap. Soc. Euro 120.000,00 i.v. - REA MI-1558390

M Series catalogue - Ed. 2.0-09,/22

EEVES
1M Cy,
& %

o

s A

/)




